SOLICITATION	N/CONTRACT					EMS	1. REQL	JISITIO	ON NUMBER			PAGI	E1 OF	28
2. CONTRACT NO.	ON TO COMI EL		FECTIVE DATE	-	ER NUMI	BER			5. SOLICITAT	ION NUMBER		6. SOLIC	TATION ISS	UE DATE
HDEC04-12-D-001									HDEC04-1	15-Mar-2012				
7. FOR SOLICITATION INFORMATION CALL:		a. NAME TRINA C. I	BARNES						100000000000000000000000000000000000000	E NUMBER (No8000 EXT 483		and the second desired	PM 16 Ap	/LOCAL TIME r 2012
9. ISSUED BY		CODE	HDEC04			IIS ACQU		N IS		11. DELIVERY		12. DIS	COUNT TE	RMS
DEFENSE COMMIS					IH.	NRESTRI				DESTINATION BLOCK IS MAR				
SUPPLY & EQUIPM BUILDING P 11200	ENT DIVISION				SE	ET ASIDE	:	%	FOR	SEE SCHE				
1300 E AVENUE						SB prove op					CONTRACT	ED OBDE	D	
FORT LEE VA 23801	1-1800				-	HUBZO 8(A)	ONE SB				PAS (15 CFF	LD ONDL		
					SVC-DISABLED VE			VFT-	ET-OWNED SB 13b. RATING					
TEL:				*		EMERG		.0-77LA	=11111== ==	14. METHOD C	F SOLICITA	TION		
FAX: (804) 734-8269/8886						SIZE STD: 750 NAICS: 333924 RFQ IFB X RFP								
15. DELIVER TO		CODE			16. AE	MINISTE	RED BY	1			C	DDE _		
		_												
SEE	SCHEDUL	.E					Si	EE	ITEM 9					
17a.CONTRACTOR/	OFFEROR		CODE 4J2G		1.0							T	TO Exceeded the order	
Tra.con macron	OFFEROR		4,126		18a. P	PAYMENT	WILL B	SE IVIA	ADE BA		C	ODE H	Q0131	
TEREX CORPORATION THOMAS MANLEY	ON					DFAS-WIDE AREA WORK FLOW								
150 RIVERSIDE PKV					DFAS - CVDAAA/CO IP.O. BOX 369016									
FREDERICKSBURG	S VA 22406-1094				COLU	JMBUS (DH 4323	36-9	016					
TEL. 540-361-775	5 FXT.25		CILITY COL											
_	REMITTANCE IS	DIFFERENT	AND PUT		18b. SUBMIT INVOICES TO ADDRESS SHOWN IN BLOCK 18a. UNLESS BLOCK									
SUCH ADDRESS IN OFFER						BELOW IS CHECKED SEE ADDENDUM								
19. ITEM NO.		20. SCHEDU	JLE OF SUPP	LIES/ SE	RVICE	S		21.	. QUANTITY	22. UNIT	23. UNIT F	PRICE	24. AMC	DUNT
10														
SEE SCHEDULE						1								
			· ·											
25. ACCOUNTING						26. TOTAL	AWARD AM	OUNT (F	or Govt. Us	se Only)				
								*4.40						
												\$1,424	1,573.66 E	EST
								25.50-0-	age of the special control					
27a. SOLICITATI	10N INCORPORA	TES BY REFE	RENCE FAR	52.212-1.	52.212	-4. FAR 5	2.212-3.	. 52.2	212-5 ARE AT	TACHED. A	DDENDA	ARE	ARE NOT	ATTACHED
X 27b. CONTRAC	T/PURCHASE OR	DER INCORF	ORATES BY F	REFEREN	NCE FAI	R 52.212-	4. FAR	52.21	12-5 IS ATTA	CHED. A	DDENDA X	ARE	ARE NOT	ATTACHED
28. CONTRACTOR I	IS REQUIRED TO	SIGN THIS D	OCUMENT AN	D RETUR	RN <u>(</u>	O COP	PIES	29. <i>F</i>	AWARD OF (CONTRACT: RE	FERENCE HI	DEC04-12-R	0026	
	FICE. CONTRAC									ED <u>14-Apr-2012</u>	. YOUR			
Million III and a second and a	OTHERWISE IDE HE TERMS AND C				ITIONA	L SHEET:	s			NCLUDING ANY HEREIN, IS AC				
			37.000.000.000.000.000.000.000							32		88 8		
30a. SIGNATURE C	31	a.UNITED	STATES	S OF	AMERICA (SIGNATURE OF C	ONTRACTING (OFFICER)	31c. DAT	E SIGNED				
							_			000 0			07.14	2012
						د	-		win ch.	Mr.ea			U /-M	ay-2012
30b. NAME AND TI	TLE OF SIGNER		30c. DATE	SIGNET	D 21	ь маме	OF COM	PR ACT	TING OFFICE) /munn	OR DDTNID			
(TYPE OR PRINT)		31b. NAME OF CONTRACTING OFFICER (TYPE OR PRINT)												
	DE	DESSIE MILLS / CONTRACTING OFFICER												
					TE	EL: (804)	734-8	000 I	EXT 48511	EMAIL: de	essie.mills	@deca.mi	1	
			1											

SOLICITA	TION/	COI	NTRACT/ORDER FOR (CONTINUED)	COMMERC	EMS			1.		PA	AGE 2 OF 28		
19. ITEM NO.			20. SCHEDULE OF	SUPPLIES/ SER		21. QUANTI	TY	22. UNIT	23. UNIT P	RICE	24. AMOUNT		
			SEE SCH	IEDULE			-						
							7						
P 0													
32a. QUANTITY IN	32a. QUANTITY IN COLUMN 21 HAS BEEN RECEIVED INSPECTED ACCEPTED, AND CONFORMS TO THE CONTRACT, EXCEPT AS NOTED:												
32b. SIGNATURE C REPRESENT/	ZED GOVERNMENT	32c. DATE			32d. PRINTED NAME AND TITLE OF AUTHORIZED GOVERNMENT REPRESENTATIVE								
32e. MAILING ADD	OF AL	ITHORIZED GOVERNMENT R				PHONE NUMBER OF AUTHORIZED GOVERNMENT REPRESENTATIVE							
			32g. E-			AIL OF AUTHORIZED GOVERNMENT REPRESENTAT							
33. SHIP NUMBER	34. VOUCHER NUMBER 3		35. AMOUNT VERIFIED CORRECT FOR		36.	36. PAYMENT (7. CHECK NUMBER		
38. S/R ACCOUNT NUMBER 39. S/R VOUCHER NUMBER 40. PAID BY													
		IS CORRECT AND PROPER CERTIFYING OFFICER	FOR PAYMENT 41c. DATE	42a. RE	. RECEIVED BY (Print)								
					42b. RE	CEIVED AT (Location)							
				42c. DA	TE REC'D <i>(</i> '	(Y/MM/DD) 42d. TOTAL CONTAINERS							

Section SF 1449 - CONTINUATION SHEET

SUPPLIES/SERVICES **UNIT UNIT PRICE** ITEM NO **ESTIMATED ESTIMATED AMOUNT** QUANTITY 0001 10 Each \$15,881.50 \$158,815.00 CED: 1R15-A, Personal Lifts, One Person

FFP

Base Year: June 1, 2012 - May 31, 2013

Warranty Period: One year from acceptance, free of defects in manufacture or

materials

Manufacturer: Genie - A Terex Company

Model: Genie Brand, Runabout 20' - GR-20

Warranty POC: Mr. Dan Anderson, Phone: 425-497-6818,

Email: dan.anderson@terex.com

FOB: Destination

ESTIMATED NET AMT \$158,815.00

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

0002 10 Each \$250.00 \$2,500.00 EST

SHIPPING CHARGES FFP

Base Year: June 1, 2012 - May 31, 2013

The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill.

FOB: Destination

ESTIMATED NET AMT \$2,500.00 (EST.)

ITEM NO SUPPLIES/SERVICES **ESTIMATED** UNIT **UNIT PRICE** ESTIMATED AMOUNT QUANTITY \$16,596.17 1001 Each \$663,846.80

CED: 1R15-A, Personal Lifts, One Person

FFP

Option Year 1: June 1, 2013 - May 31, 2014

Warranty Period: One year from acceptance, free of defects in manufacture or

materials

Manufacturer: Genie - A Terex Company

Model: Genie Brand, Runabout 20' - GR-20

Warranty POC: Mr. Dan Anderson, Phone: 425-497-6818,

Email: dan.anderson@terex.com

FOB: Destination

ESTIMATED NET AMT \$663,846.80

UNIT **UNIT PRICE** ESTIMATED AMOUNT ITEM NO SUPPLIES/SERVICES **ESTIMATED** QUANTITY \$6,500.00 EST 1002 26 \$250.00 Each SHIPPING CHARGES **FFP** Option Year 1: June 1, 2013 - May 31, 2014 The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. FOB: Destination **ESTIMATED** \$6,500.00 (EST.)

NET AMT

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

2001 16 Each \$16,928.09 \$270,849.44

CED: 1R15-A, Personal Lifts, One Person

FFP

Option Year 2: June 1, 2014 - May 31, 2015

Warranty Period: One year from acceptance, free of defects in manufacture or

materials

Manufacturer: Genie - A Terex Company

Model: Genie Brand, Runabout 20' - GR-20

Warranty POC: Mr. Dan Anderson, Phone: 425-497-6818,

Email: dan.anderson@terex.com

FOB: Destination

ESTIMATED NET AMT \$270,849.44

ESTIMATED AMOUNT ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT **UNIT PRICE** QUANTITY 2002 \$250.00 16 Each \$4,000.00 EST SHIPPING CHARGES

FFP

Option Year 2: June 1, 2014 - May 31, 2015

The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill.

FOB: Destination

ESTIMATED NET AMT \$4,000.00 (EST.)

ITEM NO **UNIT UNIT PRICE ESTIMATED AMOUNT** SUPPLIES/SERVICES **ESTIMATED** QUANTITY 3001 \$17,266.65 10 Each \$172,666.50 CED: 1R15-A, Personal Lifts, One Person

Option Year 3: June 1, 2015 - May 31, 2016

Warranty Period: One year from acceptance, free of defects in manufacture or

materials

Manufacturer: Genie - A Terex Company

Model: Genie Brand, Runabout 20' - GR-20

Warranty POC: Mr. Dan Anderson, Phone: 425-497-6818,

Email: dan.anderson@terex.com

FOB: Destination

ESTIMATED NET AMT \$172,666.50

\$2,500.00 (EST.)

ITEM NO **UNIT UNIT PRICE ESTIMATED AMOUNT** SUPPLIES/SERVICES **ESTIMATED** QUANTITY 3002 10 Each \$250.00 \$2,500.00 EST SHIPPING CHARGES **FFP** Option Year 3: June 1, 2015 - May 31, 2016 The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill. FOB: Destination

ESTIMATED

NET AMT

ACC - ACC -

Warranty Period: One year from acceptance, free of defects in manufacture or

materials

Manufacturer: Genie - A Terex Company

Model: Genie Brand, Runabout 20' - GR-20

Option Year 4: June 1, 2016 - May 31, 2017

Warranty POC: Mr. Dan Anderson, Phone: 425-497-6818,

Email: dan.anderson@terex.com

FOB: Destination

ESTIMATED NET AMT \$140,895.92

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AM

4002 8 Each \$250.00 \$2,000.0

EXERCISED OPTION FFP

Option Year 4: June 1, 2016 - May 31, 2017

The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill.

FOB: Destination